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PART A: Vocabulary

T e SR —

Dif*egtiﬂns: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet. -

The book was. --- by a panel of experts, working in conjunction with the publisher.
1) revealed ~ 2) compiled 3) intervened 4) attributed

In Canada, drug users belong to high-risk insurance --------—, - i

1) entities 2) features 3) categories 4) structures

The victim was able to give the police an ---------- description of her attacker.

1) accurate 2) ultimate | 3) identical 4) equivalent
The government passed a law to promote the ----—----—- of blacks into white South African
society. ! | '

1) integration 2) foundation 3) coordination 4) adaptation
Small-businesses often have great difficulty in ———--— credit from bauks. |

1) detecting 2) obtaining 3) pursuing - 4) depositing
Feminists say that the book was written from a male —-—--

1) objectsve 2) inspection 3) perspective 4) presumption
Violence is just one of the many problems - -- in city life. -
1) explicit ' 2) empirical 3) available 4) inherent

_ Legal requirements state that working hours must not ---——-- 42 hours a week.
1) assign 2) exceed "R 3) utilize 4) undertake
- The Highways Department is responsible for the construction and -----——- of bridges and

roads. |

1) equipment 2) adjustment 3) manipulation 4) maintenance
Mazxwell’s responsibilities -—----- yours, so you will be sharing some of the work.

1) overlap 2) affect 3) identify 4).coincide

{ PART B: Grammar

| Directions: Read the following passage and decide which choice (1), (2), (3), or (4)
| best fits each space. Then mark the correct choice on your answer sheet. '

11-
12-
13-
14-
15-

Since water is the basis of life, (11) --------— the greater part of the tissues of all living things, the
crucial problem of desert animals is to survive in a world (12) --=====--- sources of flowing water are
rare. And since man’s inexorable necessity (13) ---------- large quantities of water at frequent
intervals, (14) ---------- comprehend that many creatures of the desert pass their entire lives (15) ----
------ a single drop.

1) composes 2) composing 3) it composes 4) that composing

1) which 2) that 3)there 4) where

1) is to absorb 2) of absorbing 3) that is to absorb 4) is absorbing

1) scarcely he can 2) he scarce can 3) be can scarcely 4) scarce can he

1) for _ 2) from ~ 3) upon 4) without
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PASSAGE 1:

The ideas of Anaximander of Miletus (c. 610 B.C.-c. 545 B.C.), considered by later
Greek writers to be the true founder of geography, come to us through fragments
quoted by his successors. Anaximander is credited ‘with “the invention of the
gnomon,the simple yet efficient Greek instrument that allowed the early measurement
of latitude. Thales, Anximander is also credited with the prediction of eclipses. The
foundations of geography can be traced to the ancient cultures, such as the ancient,
medieval, and early modern Chinese. The Greeks, who were the first to explore
geography as both art and science, achieved this through Cartography, Philosophy,
and Literature, or through Mathematics. There is some debate about who was the first
person to assert that the Earth is spherical in shape, with the credit going either to
'Parmenides or Pythagoras. Anaxagoras was ablé to demonstrate that the profile of the
Earth was circular by explaining eclipses. However, he still believed that the Earth
was a flat disk, as did many of his contemporaries. One of the first estimates of the
radius of the Earth was made by Eratosthenes.

What would the best title be for the above passage?

1) Invention of Gnomon 2) Founders of Geography

3) Foundations of Geography 4) Ancient Greek Geographers

Based upon the passage, Anaximander is ——---- for the invention of the gnomon, the simple yet
efficient Greek instrument that allowed the first measurement of latitude.

1) responsible 2) creditable

3) good enough to deserve some praise 4) clever enough to deserve some admiration
Foundations of geography can be ------—-- the ancient cultures such as the ancient Chinese.

1) asked for 2) copied by 3) described by 4) found in

The Greeks reached achievements in the field of geography -—-—- of cartography, philosophy, and
literature.

1) by means 2) into one end 3) from one side 4) across one area

The author concludes that Anaxagoras ------- e

1) thought that the Earth was flat, and indicated that it was flat

2) demonstrated that the Earth was flat, and believed that it was global

3) believed that the Earth was circular, and demonstrated that it was global

4) indicated that the profile of the Earth was circular, and believed that it was flat
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PASSAGE 2:

Geostatistics -deal with quantitative data analysis, specifically the application of
statistical methodology to the exploration of geographic phenomena. Geostatistics is
used extensively in a variety of fields including: hydrology, geology, petroleum
exploration, weather analysis, urban -planning, logistics, and epidemiology. The
mathematical basis for geostatistics derives “from cluster analysis, discriminant
analysis, and non-parametric statistical tests, and a variety of other subjects.
Applications of geostatistics rely heavily on Geographic Information Systems,
particularly for the interpolation (estimate) of unmeasured points. Geographers are
making notable contributions to the method of quantitative techniques.

Geographic quaiitative methods, or ethnographical; research techniques, are used by
human geographers. In cultural geography there is a tradition of employing qualitative
research techniques also used in anthropology and sociology. Participant observation
and in-depth interviews provide human geographers with qualitative data.

What does the passage mainly discuss?

1) Application of geostatistics

2) Exploration of geographic phenomena

3) Geographic quantitative methods and ethnography

4) Geographic qualitative methods and research techniques
According to the passage, quantitative data analysis
epidemiology, etc.

1) includes a collection of fields 2) concludes a wide variety of areas

3) concludes a great number of fields 4) includes a large number of areas

Applications of geostatistics ---—----—-— Geographic Information Systems especially for the estimate of
unmeasured points.

1) trust slowly on 2) depend in large amounts on

3) trust with a lot of force upon 4) depend to a large degree upon

Which statement is true about Geographers’ contributions fo the method of quantitative techniques?

1) Geographers give an amount of money in order to make it successful.

2) Geographers do something that helps to make it successful.

3) Geographers give something of material value to achieve success.

4) Geographers make regular payments for insurance and pensions.

such as hydrology, geology, logistics,

The author concludes that qualitative data are supplied by -—------- interviews.
1) participant observation and exclusive 2) indescribable consideration and private
3) indescribable consideration and detailed 4) participant observation and thorough

MM%tﬂu,)éw)'wu)wghyb‘s)b‘uﬁ?i'
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PASSAGE 3:

Perhaps the earliest one to devise a theory ‘of geomorphology was the polymath
Chinese scientist and statesman Shen Kuo (1031-1095 AD). This was based on his
.observation of marine fossil shells in a geological stratum of a mountain hundreds of
miles from the Pacific Ocean. Noticing bivalve shells running in a horizontal span
along the cut section of a cliffside, he theorized that the cliff was once the pre-historic
location of a seashore that had shifted hundreds of miles over the centuries. He
inferred that the land was reshaped and formed by soil erosion of the mountains and
by deposition of silt, after observing-strange- natural erosions of- the Taihang
Mountains and the Yandang Mountain near Wenzhou. Furthermore, he promoted the
theory of gradual climate change over centuries of time once ancient petrified
bamboos were found to be preserved underground in the dry, northern climate zone of
Yanzhou, which is now modern day Yan'an, Shaanxi province.

(Ne¥ u5) panazi b

Geomorphology was not originally differentiated from the rest of geography. The first
geomorphic model was the geographical cycle or the cycle of erosion, developed by
William Morris Davis between 1884 and 1899.

The author is that Shen Kuo the polymath Chinese scientist and statesman was the first to
a theory of geomorphology.

1) not doubtful - design  2) not certain - invent  3) not doubtful - discover 4) not certain - designate
What does ‘span’ in line 4 refer to?

1) the width of the cliffside

2) the amount of time that the cliffside lasted

3) the radius of bivalve shells that Shen Kuo calculated

4) the differences included in the cliffside that Shen Kuo considered

According to the passage, Shen Kuo —--—--- that the land was reshaped by soil erosion of the
mountains,
1) announced 2) implied 3) theorized 4) stated

He also encouraged the theory of gradual climate change by discovering ancient bamboos --
1) that were dead and turned into fossil shells

2) that were fresh and were found underground in Yanzhou
3) that were dead and changed into stone over the centuries
4) that were fresh and were preserved in the modern day Yan’an, Shaanxi province.

The author finally concludes that Geomorphology was --—--—— .
1) included in the rest of geography

2) not originally part of geography
3) first studied by William Morris Davis
4) originally presented as an independent field of study
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